5 3 sfofet,

)
)
3) BC =5cm, CA = 7cm, /A =50° (
) A =50°, /B =40°, /C=90° (

)

)
)

O3 22 x3d0] o128 o, AABC7} shvz 2A 5=
° °

)

A

_8_ coa



2 FolA AR AABCE Zx 2 uf, 13 A= AABC 9
N5 atoiet.

)AB = 7cm, BC =9cm, CA = 15cm
)BC = 6cm, /B =50° £/C =45°
3)BC=4cm, CA =6cm, £C=T70°
) LA =62°, /B=238° +/C=280°

Ct
=B




3. o8 783 18 AABC oA BD = DC = AC ©]1 /BAC = 76° ¥
o, zx ©] 2712

@D 100° ® 104° 3 108° @ 108° B 114°



4.

T} ol Al ¥ CA, CB, BD ] Ae|7t 2L, /EBD 9] 277}

99° A W}, sx O] 7)=?

@D 60° @ 63° 3) 66° @ 76°

3B 80°



5.

ohg 1

]l Al

A=
=

9

=
1=
‘C

Y718 ol A EHFJ IK ¢t n

/‘1 2lo] 74 F5kefet,

R~

n
I




& 290 A8 Aol A2 FG 9
w3l g0 Qe A 0] A4

@ 274 @ 371
® 578




7.

o2 I-A 1= £A, /B, £C 9 o] 5EA9] wHolal, /A =60°,

(B =50 o, LAIC 9] Z27]=2?

A

B ° o

Q

@D 100° @ 110° ® 115° @ 120°

® 125°



8. =& IHAA «x o] 277

84°

D 132° ® 136° 3 138° @ 1492° B 146°



U] A e

~ ol of
©) 6N
R N
el
M 6N
a S oor
e
© R
Bi,mu
< 5% A
Gl e
o
T o o
.Ammn
uw
Aq_o.‘__.__.,
N
o]FoE
T oy
& =
DZ
B
R SR
T T
ﬂEﬂEH
muﬂuﬁ
o on X
T

9.

o] gre Fatolet.

b+3

5

1o a—+

S

249 A b el o

A
)

Be

G



10.

shute] A4 §1fl n 9] 2l Sie

]140

HEo %2 a, AR T2 WA 4

(c+3)

MeE et g,

YEE
-

%#%%Hiq%
Az e Aol



